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QXS MW U 2L
8,000,000& 8,000
OdEs & sFslE Al
7,000,000 7,000
IHEE N=sA2Ye ESME 110,000 192,000 A\82,000
= 66,000
Al 22,000
- 22,000
402 BIZtAH=01A 110,000 192,000 /82,000
= 66,000
Al 22,000
- 22,000
02 RIENEASEZ(0IETHR) 110,000 192,000 A\82,000
OJEE M=A 22 22SAMY
100, 000 +800CH+600, 0002 +50CH 110,000
= 66,000
Al 22,000
- 22,000
S2ENERES 2+ 27,730 27,730 0




SN S#YPED
FA: JHRGHD BHE SAEE ZE(BHES
el SEEd & 2| (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 27,730 27,730
01 At2teltl 7,730 7,730
OgNERgs LANAM 7
100,000 502 A 5,000
Og=FoU 82= M&
70,0003 *137H 2-*32] 2,730
® 2=2H| 20,000 20,000 0
OBANHETLD RBSL 23
400& *50,000A 20,000
Sd0IE HelXd(2X) 67,240 64,348 2,892
= 33,620
Al 16,810
- 16,810
401 Al HIZL 201 67,240 64,348 2,892
s 33,620
Al 16,810
- 16,810
01 Al&HI 67,240 64,348 2,892
O=dlolE HMeldlE 3,520,000« 14= 49,280
= 24,640
Al 12,320
- 12,320
OXSHe N 6,280,000& 2= 12,560
= 6,280
Al 3,140
- 3,140
OHl=8 E)H X& 5,400,000&~1S 5,400
= 2,700
Al 1,350
- 1,350
ST UG M AFE 64,857 4,000 60,857
= 58,371
Al 6,486
301 LELE NS 64,857 4,000 60,857
= 58,371
Al 6.486
01 A2 HSFS(RNEERTHE) 64,857 4,000 60,857
OAHIUIHANSUHA S 64,856,080 64,857
= 58,371
Al 6,486
BASE sM4F JI2AHE 8 100,000 0 100,000
= 70,000
- 30,000




SN S#YPED
FA: JHRGHD BHE SAEE ZE(BHES
el SEEd & 2| (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
207 ARl 100,000 0 100,000
= 70,000
=] 30,000
NEEEET 100,000 0 100,000
OBAZY =M8T JI2H 23
100,000,000 100,000
= 70,000
- 30,000
£ =2 2d 9,000 0 9,000
Al 4,000
- 5,000
201 er23| 1,000 1,000
01 Al22t2lH] 1,000 1,000
OF 2ot Alg 2 BM 22 =
1,000,000 1,000
401 AIEHIX R0 8,000 0 8,000
Al 4,000
- 4,000
01 AlZ8| 8,000 0 8,000
OZ=HHl E5AHY 8,000,000& 8,000
Al 4,000
- 4,000
s e 2l 320,220 672,927 A352,707
= 88,458
[ 40,000
Al 61,615
- 130, 147
SHH=E HHIEAZEE 2 58,947 7,713 51,234
201 er=2 3| 6,124 6,124 0
01 AtR2t2lHl 4,204 4,204 0
Oget+=EHI 2,440
—3oitiEeA ANEEZE ME
16,0002 +40& 640
—SEEAL HHANY = 2UH=H
Xeldls 600,000 +3& 1,800
OlnxE2 Sd= 86,4003 +23]x 123 154
OSEEAD o =2 M
70,0002 * 107K 700
Ooul =l 750
—=& .84 Ags 100,000 +5& 500
— e (tdEt) 50,0002 5% 250
O=ZHiERi=s AEIIE ER+==8
16,000,000 * 1% 160
2 352484l 1,520 1,520 0
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A BEES
FA: JHRGHD BHE SAEE ZE(BHES
&l AtgErd a2t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OB EEI I KAl 800,000 800
O128 FHEL & 0Isde| s
40,0002 122 480
Od2g8=2 g a 2He N=EEe
= 20,0002 122 240
03 #Al2 | 400 400 0
OYMBALAY L II=XY DS 400
—TUBALAY DRYN S
100,000 43 400
206 M=l 1,248 714 534
01 M=4l 1,248 714 534
OHl=AlZE MHEII 7 80
—PE" (221H) 80,0003 18+ A 80
OESE FSALLD Uil M 7L 1,168
—SEAMN(IHEE) 73,0003 %162 A 1,168
207 ARl 19,800 19,800
02 MAHHEHH] 19,800 19,800
OJIe3EE SSHOIX A
19,800,000 19,800
301 LELEN S 875 875
14 JIEt2 =3 875 875
OstZgde Alxa=s
50,000& *104 500
OSoliEe A 22 H=5A3 243
25,0002 15213 375
405 AtatE = 30,900 30,900
01 Tt =S F=HI 30,900 30,900
Od2g Hg Sl AIAg 25
30,000,000 30,000
OFUSpHOIE D] & 900,000 900
b 2l 24,585 23,244 1,341
Al 7,500
- 17,085
201 ger=3| 7,040 6,260 780
02 S3=gHl 7,040 6,260 780
OsE2= & HA 2,040
—SoltHEEI| OIS R
8,500 20U * 122 2,040
OAIZ &l || 5,000,000& 5,000
206 MH=H| 2,545 1,984 561
01 M=4l 2,545 1,984 561
OAFAEHESI| & 225 7Y 2,545
—102Ie Z&H 350,000 32 A 1,050
—5cIE & 320,000 38 A 960
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SN S#YPED
FA: JHRGHD BHE SAEE ZE(BHES
el dgegael EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HEESY 135,000 *1H 135
—AHEEY 400,000 *1H 400
405 AtatsE = 15,000 15,000 0
Al 7,500
- 7,500
01 Tt =S F=SHI 15,000 15,000 0
OAHNEAZFET 7L
15,000,000 = 1CH 15,000
Al 7,500
T 7,500
A2 AHE EXAE X XE ALY 144,000 541,050 A397,050
= 80,000
Al 32,000
T 32,000
402 QI2F X201 & 144,000 540,000 39,000
= 80,000
Al 32,000
- 32,000
02 SIINEANSEX(0IETHR) 144,000 540,000 39,000
OAAZAIEE SXAIE EXIXE
144,000,000 144,000
= 80,000
Al 32,000
- 32,000
OISRl SHHHS Olg - 2FAl 80,000 84,000 24,000
s 40,000
Al 20,000
- 20,000
101 e124d| 68,000 70,000 A2,000
= 34,000
Al 17,000
- 17,000
04 JIZtN2Z2 XS+ 68,000 70,000 A2,000
OUIMZHAI SHUHE MZZ Al A 212t
ANE 280 S XS 34,000,000& 2 68,000
[ 34,000
Al 17,000
- 17,000
201 et 3| 12,000 14,000 /2,000
[ 6,000
Al 3,000
- 3,000
01 AtR2t2|HI 10,000 12,000 A2,000




A BEES
FA: JHRGHD BHE SAEE ZE(BHES
&l AtgErd a2t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OO0IMZX SHUHE HBZAl A 212t
NEE R E
10,000,000 *1CH 10,000
= 5,000
Al 2,500
- 2,500
2 s5=4g4l 2,000 2,000 0
OO0IMZX SHUHE HBZAl A 212t
ANE ®Igt Xg FAHl & S4ld|
2,000,000& 2,000
= 1,000
Al 500
- 500
=ENSEEID| EX28 K2 AL 12,688 16,920 N4,232
= 8,458
Al 2,115
- 2,115
402 QI>F X201 & 12,688 16,920 N4,232
= 8,458
Al 2,115
= 2,115
2 QIZERHE AR 2 X (01 R TH ) 12,668 16,920 14,232
O+EMSTAAE 2| N
12,688,000& 12,688
= 8,458
Al 2,115
- 2,115
dEret el 102,287 163,584 N61,297
Al 35,000
T 67,287
SHEEZAIE 2 5,060 4,716 344
201 er23 | 5,060 4,716 344
2 35234l 5,060 4,716 344
O8N e M |AHI(KRFH Z&)
2,500,000 *1CH 2,500
OgZ2g SHTH FT2AM =8
146,000 * 10CH 1,460
OstZ32E =38 dud
550,000 *2CH 1,100
HEAS & HIMEA S 2el 5,552 55,328 AN49,776
201 Ler23| 5,052 6,552 21,500
2 s5=34l 5,052 5,052 0
OBBZHNEA A 24|
350,000 * 12 4,200
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A BEES
FA: JHRGHD BHE SAEE ZE(BHES
Chelr MEatdate| EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ot Saaad ALY AHY AR
30,000 »2CH =128 720
OUII12Z (0IMER) 22i0l e AlZE
11,0002~ 128 132
301 22N = 500 500
14 JIEt2 8= 500 500
OFE ot=2 & 718 o5 =2ctel B
5,000& 100 500
NS HHEIHA 2l 21,175 13,040 8,135
201 Ler23| 2,315 2,315 0
01 At2teltl 815 815 0
Ooul=tl 315
— NS HEIA BHES
50,0002 +5% 250
—XSA HHEItA B N R
13,000 +5& 65
OMSAt E3d S 2= MH
500,000 500
02 S3=gHl 1,500 1,500 0
OstZg=sdad =Xl
1,500,000& 1,500
401 Al HIZL S 0HYI 5,000 10,725 Ab,725
01 Al&HI 5,000 10,725 N5, 725
OS2 Mg HAE 24 & A ZX
5,000,000& 5,000
405 KHoHF S| 13,860 13,860
01 ML ESFSHI 13,860 13,860
OXsSxt HHEItA SEFH 7
13,860,000 = 1CH 13,860
OIAEX ds2el+9 X3 70,000 90,000 220,000
Al 35,000
- 35,000
401 Al HIZL S 0HYI 70,000 83,500 213,500
Al 35,000
T 35,000
01 Al&HI 70,000 83,500 213,500
OUIMEX deS £
12,500,000 +2CH 25,000
Al 12,500
- 12,500
OUIIAFA X 45,000,000+ 1CH 45,000
Al 22,500
- 22,500
oelolgss2t & AUsIIE 2l 500 500
201 Zet=gy 500 500 0




od
i’
o
uJ

—
-

E)

iof

H

&0

ol

X0

Kq

&0

o)

=<

H

o)

RE o
=™
0] < "0
H o wl
R0 A< m
= 20

|.IA—P__.I
I+ &0

X XH
&t

-

KIO

Hlw

H
ol &y

500

Ofl &F2H

500

500

By

SA - Z3F - SRA(E) - HRAEY

01 AtR2telbl

500,000

_21_



